Name: 












Writing in Scientific Notation

Answer Sheet

Example’s answers:  
 
53,284,967,018





 
53,300,000,000





 
5.33 x 1010




Directions: Double-click on the first city’s name in Google Earth’s left sidebar menu.  Use the ruler tool set to centimeters and click on the city’s location in the main window. Double-click in the sidebar menu on the second city’s name.  Once the view reaches that city, set the ruler by clicking on the second city.  Write the centimeter measure in standard form to 3 significant digits and then in scientific notation.

Quebec to Montreal :  
23,400,000
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Note:  Answers are approximate and may vary from student to student within reason.
Denver to New York:
262,000,000
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Montreal to Tokyo:

1,040,000,000
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New Delhi to London:
672,000,000
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Brasilia to Quebec:

731,000,000
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Sydney to San Francisco:
1,190,000,000
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London to Tokyo:

957,000,000
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New Delhi to Brasilia:
1,420,000,000
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New York to London:
557,000,000
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Quebec to New York:
70,800,000
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San Francisco to New York:   414,000,000
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Montreal to London:
523,000,000
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Sydney to Tokyo:

778,000,000
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